Divisibility 3 (HKMO Classified Questions by topics)

1990 HG4
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Find the remainder when 2!°%° + 1 is divided by 3 .

1991 FI3.1
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If the 6-digit number 168426 is divisible by 3, find the greatest possible value of a .

2001 HG6
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If a ten-digit number 2468m2468m is divisible by 3, find the maximum value of m .

2013 FI1.3
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If ¢ is the remainder of 3190 + 459 + 525 divided by 3, find the value of c .

2015 FI2.3
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If y is the remainder of (3'%° + 5% + 72%) + 3, determine the value of y .

2018 HI13
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A 4-digit number can be transformed into another number by adding its digits. For
example, 1234 is transformed into 10 as 1 + 2 + 3 + 4 = 10 . How many
transformed numbers from 1998 to 4998 inclusive are NOT divisible by 3?
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Answers
1990 HG4 1991 FI3.1 2001 HG6 2013 FI1.3 2015 FI2.3
0 7 7 0 2
2018 HI13
2000
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